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QUESTION 1

Which of the following describes a JCL data definition statement? 

A. Associates a program coded file name with JCL DDNAME 

B. Associates a program coded file name with a JCL EXEC 

C. Associates a JCL PROC with a symbolic file name 

D. Associates a JCL EXEC with a program name 

Correct Answer: A 

 

 

QUESTION 2

Which of the following is the reason to design an application to run online? 

A. The users require online access to data and fast response time 

B. Users do not require to run the application as a batch program 

C. Transactions are submitted for overnight processing 

D. Data is stored on tape 

Correct Answer: A 

 

 

QUESTION 3

Which of the following describes a non partitioned data set? 

A. A collection of one or more recordsthat isstored in physical order 

B. A collection of sequential data sets called members 

C. A collection of logically related data records 

D. A collection of directory and members 

Correct Answer: C 

 

 

QUESTION 4
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Which of the following is a logical database structure made up of rows and columns? 

A. Table space 

B. Table 

C. Index 

D. DBMS 

Correct Answer: B 

 

 

QUESTION 5

After signing on to CICS, how does a user invoke a transaction? 

A. By issuing a TSO command 

B. By typing INVOKE CICS 

C. By typing EXEC CICS 

D. By typing a TRANSID 

Correct Answer: D 
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